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2A:

M MNSAAH(HL28HY)
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OEUTY(TRIE, 2AD|, 2AHEBDI)
200,00024* 1004 2,000
Ogzxig 2327 L AIE
(100,0002 * 122 )+(30, 0002 *43] ) 220
OOl =Z 24X 20,00084x05+ 128 480
OSHEBX(ALAE)
200,00084+25 400
OEENN 2| 35 100,0002 +43 400
QKRS 20,0002 2&« 12" 480
O=E & 0BigYl 32,000,000+ 1 32,000
o2g4+y 10, 100
0L .&£3H|(E.2.B5Y)
60,0002 11172 7,020
OUEesrYy 2AN2RA3| &HA +2
70,00084 %1124 %43 3,080
o=&Hl 3,840
os234tl 8,0002 82 *5A1x 1224 3,840
®2 222l 3,897 3,897 0
02323 < HAl 1,225
OX-S XA 115
== 50,0002 *1CH 0
== 65,0002« 1CH 65
OXSXt SH2(HY N, IS, K<) 850
- 2832 450,000 *1CH 450
- EESE 400,000 +1CH 400
ORtsAAME 22
70,0002 *1CH =23 140
OXSX BEZAAM 60,0002+ 1CH+23] 120
OXtas&et| 2,672
ozgsal=2 1,340,0002*1CH*0.8 1,072
O=gs8 2,000,0002*1CH*0.8 1,600
202 01t 49,680 49,680
01 ZUoidl 49,680 49,680
OJ|2YPEXNHI(LIIX Z&)
80,0002 +20% * 128 43,200
OBLHZZX ot
20,0002 %93| x3& * 122 6,480
203 AP EAL| 5,000 5,000
02 HRItAS 2 E=TIY| 800 800
OF AR EZIY| 40,0002 20 800
M PARYLLETL| 4,200 4,200 0
ORN2IAREZIY| 350,0002* 122 4,200
204 MR 4 SHAY| 1,800 1,800
01 MM I AR A 1,800 1,800
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2A:
PSER
o e

el

HY2HAH(HE 23
J|I=2&

CFB GBI - MRAY - BES

Ofl &F2H

MEE
Ofl &k2h

150,000 x 12 * 122

1,800
1,800
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